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1.2 Notes Arithmetic Series

Warm-Up: For each of the following sequences, determine whether it is arithmetic, geometric, or
neither. If it is arithmetic, find the common difference. If it is geometric, find the common ratio.
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ARITHMETIC: sfarting \dlve of a and a common Atference of d.

Recursive: Explicit:
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5. Whatis the, 100t term of the arithmetic sequence that begin@ll, : srlh
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6. What are the second and third terms of the arithmetic sequence&
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7. Whatis the 10t term of the geometric sequencg 4,12, 36,...7 = 3 = :
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8. What are the second and third terms of the geometric sequence'._Z_i 1% Ls—th .7
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9. When radioactive substances decay, the amount ——— N— ;
remaining will form a geometric sequence when “Hours Elapsed - - 9 " AR ;
measured over constant intervals of time. The table Grams of Np-240
shows the amount of Np-240, a radioactive isotope of R
Neptunium, initially and after 2 hours. What are the
amounts left after 1 hour, 3 hours, and 4 hours?
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ARITHMETIC SERIES

Series: ’ﬁ’)Q/ %\JM Of’q \ Ter(D \ﬂ Q Seiw@m(@

Finite Series: ﬁrﬁ /AXND (ﬂg" Wm
Infinite Series: (Dﬂ‘\'\ﬂd@g \N\‘W}OM %d

Find the sum of each finite arithmetic series:

44+9+14+19+424+ ... +89+94+99 74+14+21+...+91+98+105
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The Sum of a Finite Arithmetic Series: a; + a, + az+. . +an
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Is it necessary to know the common difference when using the formula to find the value of a finite

arithmetic series? Explain. C}OM "\6@0\ ‘fh,@ CoMYyyYon dl%

T find the 3% of ferms

Find the sum of this finite arithmetic series: =3 + -6+ —9+.. .+ — 30

30= A:3 H-ES) s {5 (~3+ -20)
n — =
g,%!,) + 8 - 5(-33) =(-l3]
10. A com ny pays a $10,000 bonus to salespeople at the end of their first 50 weeks if they make '
A, 10 sales in their first week, and then improve their sales numbers by, two each week thereafter. d =72
One salesperson qualified for the bonus with the minimum possible number of sales. HowTa‘rfy

sales did the salesperson make inweek 507 IO weeks? '
Q=10 Sso SSO‘ ) ‘O\f 108>

a,= 12 g™ iD-i—(sD_,?(Dz) ) 25(”4_‘9
ay=I4 = ot (4a)2) =V2615d o
Summation Notation: - 0N an ald tOlq 9

formulac
Example:4+9+ 14 + --- + 34 s

What do you neged in order to write a series in summation notation?

expliet formulas |
upper |imit (where the Gerieg endc)
[owexr \IMmif~ (Where e cevies era rts

What is summation notation for the series: 7 + 11 + 15+. Un+3 2:7
C\n=q\+ (n—ﬂccﬂ 2
=y
- imit
Y- = 4N+t 3 Yni3= 207
Can the series be written correctly in summation notation in more than one way? Explain. - =9
S . 0 N oyr 4N =204
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Finding the Sum of a Series

What is the sum of the series written in summation notation? gn - 2 (ql + Qn)
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Your turn!

Find the sum of the series written in summation notation.
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Stamp Question!!

a. A supermarket displays cans in a triangle, like the one shown, with two cans in s
the top row. Write an explicit formula for the sequence of the number of cans. ‘ '
b. Use summation notation to write the related series for a triangle with 10 cans

in the bottom row.

Suppose the triangle had 17 rows. How many cans would be in the 17t row?

. Could the triangle have 110 cans total? 140 cans? Explain.

g

Jadbd Yo oeus 2 \bubds
b Uo lo¥sba alul uan



